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* Correct Answer is in Bold and slightly bigger
* Candidate selected option is Underlined

English Language

Q2790420 Read the following passage and answer the questions given below.

When one thinks of south-Indian food, the humble Idli is the first dish that comes to mind. To the uninitiated, this is a nice rice cake that is made by
steaming a fermented mixture of rice and pulses. Idlis can also be made with semolina. In fact, there are many different types of Idlis. Some claim
that there are over 1000 different variants of this delicacy. This dish is so popular that March 30th is celebrated every year as World Idli Day.

Though the Idli is today known as a south-Indian delicacy, it may have originated elsewhere. Many believe that the Idli came to India between
800-1200CE from Indonesia where it is known as a Kedli. Given the many links between south Indian rulers and Indonesian rulers, this is not
very hard to believe.

Others believe that Arab traders introduced the Indian coasts to Idlis. These Arab traders had strict dietary norms and hence instead of eating the
local food they ate flattened rice balls with a coconut paste.

There are a number of stories about the origins of the word ‘Idli’ as well. Some historians believe that the word, Idli, was derived from Iddalige, a
word mentioned in the Vaddaradhane, a Kannada text by Sivakotyacharya in 920AD.

There are many who claim that it was derived from the word, Iddarika, a term mentioned in a 12th century Sanskrit text. There are some people
who also claim that it was derived from a dish called Idada that was made by silk weavers from Saurashtra in 10AD. No matter where it came
from and the process of making it is one that was perfected only in South-India.

Idlis are very healthy. They are easily digestible and can be eaten by children and adults of all ages. This is because the fermentation process
breaks down the rice and dal into simple compounds. Fermentation also introduces good bacteria to the batter.

This makes the dish act as a probiotic and also help boost immunity. In addition, Idlis are rich sources of nutrients such as phytic acids, vitamin B,
vitamin K, iron, and zinc. However, it has a low level of fats and carbohydrates. This makes it the ideal food for weight loss.

Q2790423 Which of the following can be inferred from the information provided in the passage?

Score Obtained : 1.0

A}_Idli is a humble dish but is known in many parts of the world.
B) South Indians are more proficient in the process of making Idlis.
C) People who want to lose weight should avoid eating Idlis.

D) Arabs did not want to depend on local food such as Idli.

2790424 According to the passage, Iddalige, is a word

Score Obtained : 1.0

A) coined by Indonesian rulers

Bl mentioned in Sivakotyacharya
C) known only to the south-Indians.
D) popularised by Arab traders

Q2790422 Idli is considered to be healthy for all of the following reasons EXCEPT:

Score Obtained © 1.0

A) Idii helps boost immunity.
B) Idli introduces good bacteria.
C) Idiiis easily digestible.

D ) _Idii has high level of fats and carbohydrates.
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Q2790421 It is believed by many that Idli, the breakfast delicacy may have originated in

Score Obtaine

A) Karnataka
B) Chennai

! ) Indonesia

D) Afghanistan

02790425 Which of the following statements is Not supported by the passage?

Score Obtained

A) Idlis were introduced to all the Indians by the Arabs traders.

B) There is no age restriction for eating Idlis because they are easily digestible.
C) Ingredients required for making Idli are fermented mixture of rice and pulses.
D) No one else could perfect the art of making Idlis as the South-Indians did.

Q2793256 The pair of words given in capitalized letters is related in some way. From the options, choose the pair that exhibits the most similar
relationship to the given pair.

MOLECULE : ATOM

Score Obtaine

A) wine : shard
B) cheese :ion

Q ) bread : crumb

D) road : trail

Q2792711 Identify the meaning of the prefix 'uni’ in the given word 'Uniform'.

Score Obtaine

A) once
B) only

C! one

D) over

(02792642 Identify the meaning of the highlighted idiom-To pass something up

Score Obtained

A) to fail to take advantage of an opportunity
B) to carry something to another place

C) to give someone a reason to believe

D) to return borrowed money in time

(02792656 Fill in the blanks with the most appropriate words.

The huge walked past a tree near the river.

Score Obtaing

A) bear, bear
B) bare, bare
C) bare, bear

D) bear, bare
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2792694 Fill in the blank with the correct spelling from among the given options

The old lady is in the process of _ after her battle with coronavirus.

Score Obtained : 1.0

A) convalascence
B) convalscance
C! convalescence

D) convelscence

Q2793260 Which of the following systems of education, based on the accepted structure of 10+2+3 was proposed by National Policy on Education, 19867

Score Obtained : -0.25

A) Unitary system of education
B) Social system of education
C) Primary system of education

D) National system of education

02791093 Which of the following tree leaves contain margosic acid?

Score Obtained : 1.0

A) Mango
B) Banyan

C[ Neem

D) Peepal

Q2791151 The Indian Education Commission (1882-83) which was appointed to review the progress of education in India is popularly known as:

Score Obtained : -0.25

A) Macaulay's Commission
B) Royal Commission
C) Ripon's Commiission

D) Hunter Commission

Q2791142 Which of the following categories of education do NOT fall under the purview of the All India Council for Technical Education (AICTE)?

Score Obtained : 1.0

A ) Medical education

B) Management education
C) Architecture education
D) Pharmaceutical education

2790475 In December 2020, Government of India approved a framework for the proliferation of broadband networks through PM WANI scheme. What does PM WANI stand for:

Score Obtained : -0.25

A) Pradhan Mantri Wide Area Network Interconnection
B) Pradhan Mantri Wi-Fi Access Network Interconnection
C) Prime Minister Wide Area Network Interface

D) Prime Minister Wi-Fi Access Network Interface

Q2791341 If PHONE is coded as FRSLQ, how is NUMBER written in that code ?

Score Obtained : 1.0

A) QDBLTM
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B) OVNCFS

C) sFavo

D) LVNCQS

Q2791328 If the prices of the grocery items used by a household increases by 45%, then by how much percentage the consumption must be reduced by the
household to keep the expenditure unchanged?

Score Obtained : 0.0

A) 33.03%
B) 37.03%
C) 36.03%

D) 31.03%

Q2792717 Raj, who was facing South direction turns right and walks for 5 Kms. After that he turns left and walks for another 10 Kms. Again he turns right and walks for 5 kms.
Once again he turns right and walks for 10 Kms and finally he turns left and walks for 10 Kms. How far is he from the starting point and which direction is he facing?

Score Obtained : 0.0

A) 30 Kms, North
B) 15 Kms, South
C) 25 Kms, East

D) 20 Kms, West

02792734 Given below a question followed by 2 statements numbered (1) and (Il). Choose the statement/statements required to answer the question by
selecting a relevant option.

Question: Among four friends A, B, C and D, who is lightest in the group?
Statements:

I. B is lighter than D but heavier than A
II. C is heavier than B

Score Obtained : 1.0

A) Statements (I) and (1) TOGETHER are NOT sufficient
B) Statement (I) ALONE is sufficient, but statement (11) alone is NOT sufficient
C) Statement (1) ALONE is sufficient, but statement () alone is NOT sufficient

D ) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient

Q2791361 Given below are 3 statements followed by 3 conclusions. Choose the conclusion/conclusions that follows the given statements by selecting a right
option

Statements:
I. Some flowers are fruits
IIl. No fruit is a vegetable

Ill. All plants are vegetables

Conclusions:

I. No plants are fruits

Il. Some flowers are not vegetables
IIl. All plants are flowers

Score Obtained : -0.25

A) Only conclusion | follows
B) Both the conclusions Il and Ill follow

C) Both the conclusions | and Il follow
D) None of the conclusions follow

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

2792816 Formal learning is a reality of the modern age. Which of the following statements best describes the need of formal schools for the modern society?

Score Obtained : -0

A) Natural ways of learning is no longer available to the modern human
B) Innate - learning is no longer sufficient to adapt to changes of the digital age
C) It provides discipline and regimentation required for the modern age

D) It provides appropriate social space for learning to happen

Q2791210 Which of the following organisations was set up in 1961 by the Government of India to assist and advise the Central and State Governments on
policies and programmes for qualitative improvement in school education?

Score Obtained :

A)_National Council of Educational Research and Training
B) National Institute of Education

C) Centre for Advanced Studies in Education

D) National Council of Teacher Education

Q2791179 The model of teaching at understanding level is associated with

Score Obtained :

A [ Morrison

B) Dewey
C) Hida Taba
D) Hunt

Q2792781 According to John Dewey, ‘Education is reorganising experience.....and increases the ability to direct the course of subsequent experiences’. It implies

Score Obtained :

A) That there is a natural course that education should take
B) That despite education humans don’t change
C) A presumption that a child need not be taught

D) That experiences are not rigid but depend on nurture

2793268 In children with extremely low attention span, it's important to
Score Obtained : -0

A) Have specific plan of routines
B) Be firm every time attention is lost

C) Create flexible individual plans
D) Reprimand every time attention is lost

02793267 Which among the following is the best example for intrinsic motivation?

Score Obtained : -0

A) Learning to draw the diagram of human heart
B) An elementary student following instructions to clean up the space
C) An intense focus towards rewards

D) A baby struggling to turn on itself on its stomach

(02792788 Who emphasised processes rather than content matter and helped determine a proper balance between lower and higher cognitive processes?

Score Obtained : -0

A) Landsheere
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B) Benjamin Bloom
C) Suchman
D) Ragsdale

Q2791199 While framing objectives, teacher should keep in mind the following domains

Sco

A) social, creative, intelligent
B ) _cognitive, affective, and psychomotor
C) effective, efficient, discipline

D) systematic, dictatorial, instructional

2792760 Which of the following exploits Kinaesthetic Intelligence in the teaching of Solar System as per Howard Gardner’'s Theory of Multiple Intelligences?

Sco

A) Completing a worksheet on planets and their names
B) Reading mythologies on different planets
C) Preparing charts of planetary position

D[ Students act out a mime of planetary revolution around the sun

Q2791194 The Calcutta University Commission is also called

Sco

A [ sadler commission

B) Secondary Education Commission
C) Radhakrishnan Commission

D) Mudaliar Commission

Q2791557 Given below are 4 words. Identify the one that has been mis-spelt.

Sco

A) proficient
B) inimitable

! ) antigarian

D) impeccable

02791548 Which word is farthest in meaning from the underlined word in the sentence,

"The cold weather affected his desire to deliver optimal productivity."

Sco

A) sustained
B) retained

f ) encouraged

D) hindered

2791545 Fill in the blanks with the antonym of the word given in brackets:

The old movie star died in (fame).

Score

A) Notoriety
B) Preeminence
C) Kudos
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D) Dishonour

Q2791604 In the indirect sentence, fill in the blank(s) correctly:

You ask him how old he
Score Obtained : 1.0

A) Would
B) Wil be

Q_Is

D) Was

(2791591 Change the Complex sentence into Simple Sentence:

We eat that we may live.

Score Obtained : 1.0

A) We live to eat.
B) To live we eat.
C) We eat for living.

D ) We eatto live.

Q2791546 Fill in the blanks with the correct option.

Please carry hot water in a flask as the is unreliable.
Score Obtained : -0.25

A) vaccum, weather
B) vaccuum, whether

C) vacuum, weather
D) vacuum whether

(2791597 In the indirect sentence, fill in the blank(s) correctly:

The teacher asked the boy if he recite poem.

Score Obtained : 1.0

A) could, that

B) can, the
C) shall be, this
D) should be, that

02791486 Read the following passage and answer the questions based on the information provided in the passage.

On January 20, 1949, the day on which President Truman took office as President of the United States, a new era was opened for the world the era of
development. We must embark [President Truman said] on a bold new programme for making the benefits of our scientific advances and industrial progress
available for the improvement and growth of underdeveloped areas. The old imperialism exploitation for foreign profit has no place in our plans. What we
envisage is a programme of development based on the concepts of demacratic fair dealing. By using the word underdevelopment for the first time in such a
context, Truman changed the meaning of development and created a symbol and a concept which was later used as a cover for American domination. Never
before had a word been universally accepted on the very day of its political coinage. A new perception was suddenly created. Two hundred years of social
construction of the historical-political meaning of the term development were successfully stolen. A political and philosophical proposition of Marx packaged
American style as a struggle against communism, succeeded in permeating both the popular and intellectual mind for the rest of the century. Underdevelopment
began, then on January 20, 1949. On that day, two billion people became underdeveloped. In a real sense, from that time on, they ceased being what they
were, in all their diversity, and were transformed into an inverted mirror of others reality: a mirror that belittles them and sends them off to the end of the queue,
a mirror that defines their identity, which is really that of a heterogeneous and diverse majority, simply in the terms of a homogenising and narrow minority. Since
then, development has connoted at least one thing: to escape from the undignified condition called underdevelopment. In order for someone to conceive the
possibility of escaping from a particular condition, it is necessary first to feel that one has fallen into that condition. For those who make up two-thirds of the
world’s population today, to think of development of any kind of development requires first the perception of themselves as underdeveloped, with the whole
burden of connotations that this carries. (Adapted from The Development Dictionary: A Guide to Knowledge as Power, 1992)

Q2791489 The passage notes that the era of underdevelopment began
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A) roughly 49 years ago
B) in the 18th century
C) in the nineteenth century

D) roughly 70 years ago

2791490 In President Truman's speech the key tool for eradicating underdevelopment is

a) Cultural sensitivity and appropriate technology
b) American capital and technology

c)The advance of political democracy

d) social re-construction

A) candd
B) abandc
C) ab,c,andd
D) aandb

2791488 According to the passage, the most serious fault with the idea of development is

A) The destruction of diverse identities
B) The great inequality in income and wealth
C) The fact that America emerged as the sole world power

D) The fact that more and more countries became underdeveloped

2791487 What is the main purpose of this passage?

A]_To examine the historical emergence of the idea of underdevelopment
B) To question the idea of development

C) To give an alternative idea of development

D) To define development

Q2791491 During the 20th century, development has come to mean

A[ escape from underdevelopment
B) escape from political subordination
C) escape from poverty

D) escape from colonial exploitation

Q2791555 Given below are 4 words. Identify the one that has been misspelt.

A) acknowledge
B) acquaintance
C) grotesque

D) avaracious

02791603 In the indirect sentence, fill in the blank(s) correctly:

My mother me what | was doing.

A) Says
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B) that
C) Said

D) Asked

2791543 Fill in the blanks with the antonym of the word given in brackets:

The friends decided to try some (ordinary) foods.

Score Obtained : -0.25

A) exotic

B) exhausting
C) exorbitant
D) expansive

orrorasy SAE HEVIR 1 FeABYR QITU Q6Q, DI @'8 QRIAN?

Score Obtained : -0.25

Al QRUra
p) P F6ARANE FEIRY
C) #9 T6aaune 990Iey
D) YERALY

oaroras IONOIB gaka 0aaa QUge J01 Qelnen 98 aniag @4 QRIAN ?

Score Obtained : 1.0

A] QuSek Qg8
B) FIRIDD 6ERIA1QENE
) Feaulie IgNF

D) aoeIa 9ge

orroryr SAEAIPR BERAYALE CANIRQ BALIR AIRKY 2681 QIRYE 6E Q1A QIRY?

Score Obtained : -0.25

A) Q09 QRY
B) f4 QR
) sakie QY

D) eC@ QIR

Q791382 'GI% ©F'- @8 IFIS 09F 604 SedIGE AFId AERY 69

Score Obtained : 1.0

A) €14 9Q squal
B) eofic

C) aae

D) gae

02793286 2IGERE § IR 69Q TQY 6 FUNYE g4 909 @ Aee Gg

6920121 BRR PRI JFG 6RIP6R 6% 6@60F¢ 6RIIG @9, g]_él RIn1 &g g@el G‘Q aea QG‘ 8 @18 YRR Qe Gl 5 QR @Qe6m, sarIee 16 ade
691G ﬂﬂ 2RGE | 69 6@9R QI3 G699 QY6 64 2Jem BPEIR Y@ 9g° Q&‘Lé'l EIG‘@.IQ | 644!, Q\Q\QQ@I AEY 21 FAR 6FGER 64 TR g@@l@
@Rgem | 98 601RIRA1E EIE TIRIg, FIE FIEQ ARIR, G466 29I GQI%}_ 64 27 9ROIRAER @@19@ |
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Q2793289 Q&G BIINITQTE 2IE GBI - B AR CANES IRTR AAIA RERY &4 |
St

A) F12l 99 6RITT ¢ IR

B) cag@
C) UiIRIe
D) 9

02793200 ' QA" @ FUQIQ ERRIG IR AERS 94 |
S

A) 298
B) Ggen
C) g

D) ada

02793288 @18 9950 40K 9919 @9 |

Sco

A) qrarararaa
B) Q+QHQ+Q+QHR
C) QHR+G+I+R

D) Q+R+QH+G+R

2793287 QR FIGIQ (& QER FRYEA | 92 FINQ FAYIFE TGTQ AT F689 |9 |

St
A) GR+ER

B) aq+ew

C) ao+ge

D) Qg+

Q2793291 'QQYQY " - AR AAIY 9L AN K€ 629 7

S

A) 99164 98
B) Q00T 6Q 998

C) eduee

D) 9%

201448 7 eedoka 98 247

S
A) qlEare1
B) Ga
o) el

D)_ s ]

Q2792117 Under whose leadership the Faraizi movement was started as a religious movement but later turned into a peasant movement in Eastern Bengal?

Sco
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A) Keshab Chandra Sen
B) Haji Shariatullah

C) Dinabandhu Mitra

D) Debi Chowdhurani

(2792113 In the year 1921, who among the following made the famous statement 'One caste, one religion and one God to mankind' in the All Kerala Fraternity conference held
at Aluva?

Score Obtained : -0.25

A) Shri Narayan Guru

B) Swami Vivekananda

C) Erode Venkatappa Ramasamy
D) Shiv Swami

Q2792176 The appointment of Chief Justice of Supreme Court in India is done by whom among the following options?

Score Obtained : 1.0

A}_President of India

B) Governor of the State

C) Prime Minister of India

D) Comptroller and Auditor General of India

2792085 Which among the following states was first annexed by Lord Dalhousie under the policy of Doctrine Of Lapse?

Score Obtained : -0.25

A) Satara
B) Ajmer
C) Bengal
D) Nagpur

Q2792013 | was taxed by the British. Gandhiji marched till Dandi to end British monopoly over me. What am 1?7

Score Obtained : 1.0

A) Vernacular newspaper
B) Cotton cloth

C) salt

D) Firearms

(2792128 When and where was the Parsi Reform Movement Rahnumai Mazdayasnan Sabha founded?

Score Obtained : -0.25

A) 1823, in Calcutta
B) 1831, in Delhi

C) 1851, in Bombay
D) 1871, in Madras

Q2792188 The rules and regulations for the practice and procedure of Supreme Court under Article 145 of the Constitution of India are made by-

Score Obtained : 1.0

A) Governor of India

B) Election Commission of India

C) Comptroller and Auditor General of India

D)_Supreme Court with the approval of the President of India
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2792084 Diarchy was introduced in the form of two classes of administrators namely, the Executive Councillors and the Ministers, as per which of the following acts?

Score Obtained

A) Indian Contract Act, 1872

B) Indian Press Act, 1910

g[ Government of India, Act 1919
D) Ingress into India ordinance, 1914

02792094 The First Anglo-Maratha War was fought between the Maratha Empire and the British forces during which of the following years?

Score Obtained

A) 17171718
B) 1817-1818
C) 1803-1805

D) 1775-1782

Q2792166 Which Article of the Indian Constitution deals with the abolition or creation of Legislative Council in States?

Score Obtained

A) Article 169
B) Article 269
C) Article 369
D) Article 179

2792127 Pandita Ramabai a social reformer and advocate of women's rights, founded the Mukti Mission in which of the following places of India?

Score Obtained

A) Ajmer
B) Delhi

C) Pune

D) Kanpur

02792042 What was the Napoleonic folly, that was repeated by Hitler during the World War [1?

Score Obtained :

A) Annexing territories, one after the other, without installing puppet Governments there
B) Declaring war on the USA while still fighting a war on many fronts in Europe
C) Fighting Britain and France at the same time, leading to a diversion of resources

D) Fighting a war in Soviet Union during the difficult winter conditions

02792158 From the following options, which part of the Indian Constitution is described as the ‘Magna Carta of India'?

Score Obtained

A) Part |
B) Part IV

g:[ Part I

D) Partll

Q2792151 If there is pendency in proceeding of a court then which of the following writs is issued?
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A) Quo Warranto
B) Mandamus
C) Certiorari

D) Prohibition

2792032 Which of the following statements is TRUE regarding the Hindustan Socialist Republican Association?

Score Obt:

A) Ram Prasad Bismil is the writer of the revolutionary organisation and leader of the Hindustan Socialist Republican Association
B) It carried out the Chittagong Armoury Raid under the leadership of Surya Sen

C) It was called the Hindustan Republican Association when it was formed in 1925

D) All India Kisan Sabha was associated with the Hindustan Socialist Republican Association in the initial days of the association

Q2792091 Which of the following statements is INCORRECT with respect to the provisions of the Government of India Act, 19197
Score O

A) The Act provided for class and communal electorates and there were some provisions for women to vote but were limited in scope
B) The governor was the executive head of the provincial government
C) The report introduced the bicameral legislature with 2 houses - the Legislative Assembly and the Council of States

D) The viceroy's executive council had 6 members out of which only one member was to be an Indian

2792050 The aim of the Anti-Comintern Pact was to

Score Ol

A)_quuidate world communism and push for imperialist expansion in the world

B) expand communism across Europe and Asia and also oppose imperialism

C) protect Europe from German aggression as well as from the spread of communism

D) allow mutual cooperation between France and England to prevent the spread of communism

2792140 The total number of Schedules mentioned in the Constitution of India is

Score O

A) 14
B) 10

QC) 12

D) 16

Q2792060 What did the Showa Restoration, articulated by Kita Ikki in Japan before the outbreak of the Second World War mean?

Score Ol

A)_State socialism administered by military dictatorship

B) Democracy based on the principles of socialism

C) Parliamentary government with the king as head of the state
D) Democracy safeguarded by the principles of socialism

2792023 | led the peasant movement in Oudh. On my request, Jawaharlal Nehru visited villages of Oudh to see the sad condition of the peasants. Who am 1?

Score Obt:

A) Birsa Munda

B) Baba Ramchandra
C) Sahajanand Saraswati
D) N.G. Ranga
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(02792588 The Red List of Threatened Plants and Animals includes

1. All extant species
2. Critically endangered species
3. Endangered species

4. Vulnerable species

Select the CORRECT answer from the codes given below.

A) 2,34
B) 1,2,3
C) 1,2,3,4
D) 1,34

2792534 Why does crude oil sometimes termed sweet?

A) ltis less alkaline

B) ltis less acidic

C) Sweet in taste due to dissolved sugars
QLMiIdIy sweet due to low sulphur content

Q2792596 What is the reason for whitening of corals or coral bleaching?

A) Increased or reduced pressure of sea water
B) Changes in salinity of sea water
C) Increased photosynthetically active radiation and UV light band

D) Stress-introduced expulsion or death of their symbiotic protozoa

Q2792524 Which of the following would be considered a non-renewable resource?

A) Sand
B) Fresh air
C) Salt

D) Copper
Q2791620 Which of the following schemes was launched in 2018 to treat school education holistically without segmentation from pre-nursery to Class 127

A) Shagun
B) Samagra Shiksha

C) Mahila Samakhya
D) Saakshar Bharat

2792399 The Himadri was formed by what type of rocks?

A) Igneous Rocks
B) Metamorphic Rocks
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C) Sedimentary Rocks
D) Igneous Rocks and Sedimentary Rocks

2792541 Which of the following statement is INCORRECT on solar energy?

Score Obtaine

A) Solar energy is most widely and non-exhaustible sources of energy
B) It is sufficiently available in the tropical region for longer period throughout the day

C) Solar energy is directly converted into electricity with the help of photo voltaic cells

D ) We can't use solar energy in our everyday life as it is non-renewable resource

(2792378 In which hemisphere is the Antarctic Circle located?

Score Obtained

A) Western
B) Eastern
C) Northern

D) southern

Q2792568 Match the following

Column A Column B
a) Primary Sector i. Service
b) Secondary Sector [ii. Agriculture
c) Tertiary Sector jii. Industrial
d) Quaternary Sector |iv. Business

Score Obtaine

A) a-ii,b-ii,c-i,d-iv
B) a-ii, b-ii,c-iv,d-i
C) a-iv,b-i,c-iii,d-i

D) a-i, b-ii, c-iii,d -iv

Q2792579 Which among the following is the national aquatic animal of India?

Score Obtaine

A) Ganges river crocodile
B) Kaveri river crocodile
C) Kaveri river dolphin

D) Ganges river dolphin

Q2792405 Suppose you are from the Western Coastal Plain and want to travel to the Eastern Coastal Plain. You feel that the area is densely populated. What is the mosi
compelling justification for this?

Score Obtained

A) More number of industries are there
B) Pleasant climate and more rainfall
C) Rivers and fertile soil

D) Fishes are easily available

2792388 Choose the Incorrect statement.

Score Obtaine
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A) The distance between any two meridians increases as we go away from the equator towards the poles
B) The length of all the meridians is same as each one is a semi-circle

C) Two meridians which are opposite and taken together, form a complete circle

D) All the meridians meet at the poles

Q2792552 The annual financial statement is laid before the two Houses of Parliament in accordance with:

A) Article 268
B) Article 74
C) Atticle 112
D) Article 370

Q2791621 What was the slogan for the Pradhanmantri Jan Dhan mission which was launched in August, 20147

A) Jan Dhan Mera Dhan
B) Khata khula Mera Bhagya Khula

(:I Mera Khata Bhagya Vidhaata
D) Mera Dhan Mera Bhagya

Q2792561 The cause of low agriculture productivity in India is due to :

(i) Inadequate irrigation facility

(i) Land holdings are too big and difficult to cultivate

(iii) Modern methods of production techniques are easy to implement which resuilts in low yield
(iv) Lack of credit facility in rural areas

(v) Increasing pressure of population on land

Choose the CORRECT answer option among the given answer options.

A) (ii) and (iii) only
B) (iii), (iv) and (v) only

C) ), (iv) and (v) only

D) (ii) and (v) only
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